## THE EQUIVALENCE OF CERTAIN LINEAR AND NONLINEAR DIFFERENTIAL EQUATIONS OF NTH ORDER

## Rashit I. Alidema

(Communicated February 3, 1978)

## 1.0. Introduction

Nonlinear differential equations (n.d.e.) usually have particular solutions (see, ex. [1—6]).

The theory of linear d.e. is rather advanced. It has been developing continuously, starting from classical works up to contemporary researches under the influence of analysis, geometry, physics and other sciences. The theory achieved great superposition success mostly because of the superposition principle, about which the following theorem speaks:

If  $g_i (i = 1, ..., n)$  is a solution of a certain homogenous 1.d.e., then  $\sum_{i=1}^{n} g_i C_i$ , where  $C_i$  — are some arbitrary constants, is also a solution of this d.e.

This is incorrect in the case of n.d.e.. So naturally, there is a tendency to attempt to transform n.d.e. to the linear and conversely [..., 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 21, 22].

In the present work almost all of the problems concerning the connections between the theory of linear and n.d.e. of any order are included, and some of the answer to the question of J. M. Thomas (see [91]) about the d.e. of n order is given. The central place in this work is the consideration of d.e. of nth order of a general form.

1.1. Differential Equations of n-th order. Let g(x) be the general solution of the 1.d.e.

(1.1) 
$$\sum_{r=0}^{n} a_r(x) g_{(x)}^{(r)} = h(x), \qquad (g_{(x)}^{(0)} = g(x),$$

where the coefficients  $a_r(x)$  (r=0, 1, ..., n), h(x) are functions, in general complex and continuous in some domain.

The  $g^{(r)}(x)$  are the derivatives of r th order  $(r=1, \ldots, n)$  and naturally,  $a_n(x) \neq 0$ . As far as we deal with n.d.e., we try to place minumum conditions of smoothness on the coefficient  $a_r(x)$ . Usually, they are proposed to be infinitely differentiable.

Consider the n.d.e.

(1.2) 
$$\Phi(x, y, y^{(1)}, \dots, y^{(n)}) = 0,$$

that has the solution

$$(1.3) y = f(g(x))$$

where f is some function of x, which is to be found.

Suppose that f(g) has continuous derivatives up to the nth order where n is a natural number.

Let us indicate

(1.4) 
$$g_{(x)}^{(r)} = \frac{d^r (g(x))}{dx^r},$$

(1.5) 
$$f^{(r)} = \left[\frac{d^r f(\bar{y})}{d\bar{y}^r}\right]_{\bar{y}=g(x), (r=\bar{1}, n)}$$

Then we have from (1.3) to the derivative of nth order

(1.6) 
$$y^{(n)} = \sum_{r=1}^{n} F_{n,r}(g^{(1)}, \ldots, g^{(n-1)}) f^{(r)},$$

or in the form

(1.6') 
$$y^{(n)} = f^{(1)} g^{(n)} + \sum_{r=2}^{n} F_{n,r} (g^{(1)}, \ldots, g^{(n-1)}) f^{(r)},$$

where  $f^{(r)}$  are given in (1.5) and  $F_{n,r}(g)$  are the derivatives of the function g. The formula (1.6) can be written as

(1.7) 
$$\sum_{r=1}^{n} F_{n,r}(g^{(1)}, \ldots, g^{(n)}) t^{r} = \sum_{r=1}^{n} F_{n,r}(tg^{(1)}, \ldots, tg^{(n)}),$$

and

$$(1.8) F_{n,r}(tg^{(1)}, \ldots, tg^{(n)}) = \sum_{s_1! \ldots s_n!} \frac{n!}{1!} \frac{(tg^{(1)})^{s_1}}{1!} \cdot \left(\frac{tg^{(2)}}{2!}\right)^{s_2} \cdot \cdot \cdot \left(\frac{tg^{(n)}}{n!}\right)^{s_n},$$

where

(1.9) 
$$\begin{cases} \sum_{k=1}^{n} s_k = r, \\ \sum_{k=1}^{n} k s_k = n, \end{cases}$$

and  $S_k$  are nonnegative integers.

Putting (1.1) as

(1.1') 
$$g_{(x)}^{(n)} = \frac{1}{a_n(x)} \left( (h(x) - a_0(x) g(x) - \sum_{r=1}^{n-1} a_r(x) g_{(x)}^{(r)} \right),$$

into (1.6'), and using (1.8):

$$(1.10) a_n y^{(n)} = f^{(1)} (h - a_0 g) - f^{(1)} \cdot \sum_{r=1}^{n-1} a_r g^{(r)} + a_n \sum_{r=2}^{n} F_{n,r} (g^{(1)}, \dots, g^{(n-1)}) f^{(r)}.$$

According to (1.6'), we obtain;

(1.11) 
$$g^{(r)} = \frac{y^{(r)} - \sum_{l=2}^{r} F_{r,l}(g^{(1)}, \dots, g^{(r-1)}) f^{(l)}}{f^{(1)}},$$

where if r < l,  $F_{r,l}(g^{(1)}, \ldots, g^{(r-1)}) = 0$ . So we have from (1.11) and (1.10)

$$(1.12) \quad \sum_{r=1}^{n} a_r y^{(r)} + f^{(1)} (a_0 g - h) - \sum_{r=2}^{n} a_r \sum_{l=2}^{n} F_{r,l}(g^{(1)}, \ldots, g^{(r-1)}) f^{(l)} = 0,$$

where  $2 \le l \le r$ .

Making the substitution  $Df^{(r)} = f^{(r+1)}$ ,  $D = p \frac{\partial}{\partial v}$ ,

$$f^{(r+1)} = \left(p \frac{\partial}{\partial y}\right) p$$
:

(1.13) 
$$f^{(r+1)} = \left(\frac{\partial}{\partial x}\right)^r p(y(x)), (r=0, \ldots, n-1).$$

From (1.13), when r=0, we have

$$(1.14) g = \int \frac{dy}{p(y)}.$$

And from (1.14) we have:

$$(1.15) g^{(n-1)} = \sum_{r=1}^{n-1} \left[ \sum_{q=1}^{r-1} \left( \frac{1}{p} \right)_{q} \sum_{s=1}^{n} \frac{(r-1)!}{s_{1}! \dots s_{r-1}!} \left( \frac{p^{(1)}}{1!} \right) \cdots \left( \frac{\sum_{s=q}^{n} s_{s} = r}{\sum_{k} s_{k} = r-1}, \right] \cdot \cdots \cdot \left( \frac{p^{(r-1)}}{(r-1)!} \right)^{s_{r-1}} \sum_{s=1}^{n} \frac{(n-1)!}{t_{1}! \dots t_{n-1}!} \left( \frac{y^{(1)}}{1!} \right)^{t_{1}} \cdots \cdot \left( \frac{y^{(n-1)}}{(n-1)!} \right)^{t_{n-1}}$$

where

(1.16) 
$$\left(\frac{1}{p}\right)_{q} = \frac{(-1)^{q} q!}{p^{q+1}},$$

Putting (1.13), (1.14), (1.15) into (1.12) and denoting

$$\begin{cases} b_{1}(y) = p(y) \int \frac{1}{p(y)} dy, \\ b_{2}(y) = -\frac{p^{1}(y)}{p(y)}, \\ b_{3}(y) = \frac{2p_{(y)}^{(1)} - p(y)p_{(y)}^{(2)}}{p^{2}(y)}, \\ b_{4}(y) = -6\left(\frac{p_{(y)}^{(1)}}{p(y)}\right)^{3} + 6\frac{p_{(y)}^{(1)}p_{(y)}^{(2)}}{p_{(y)}^{2}} - \frac{p_{(y)}^{(3)}}{p(y)}, \\ b_{5}(y) = 24\left(\frac{p_{(y)}^{(1)}}{p^{(y)}}\right)^{4} - 36\frac{p_{(y)}^{(1)}p_{(y)}^{(2)}}{p_{(y)}^{3}} + 6\frac{p_{(y)}^{(2)}}{p_{(y)}^{2}} + 8\frac{p_{(y)}^{(1)}p_{(y)}^{(2)}}{p_{(y)}^{2}} - \frac{p_{(y)}^{4(y)}}{p^{(y)}}, \end{cases}$$

we can write (1.12) as

$$(1.18) \quad \sum_{r=1}^{n} a_r y^{(r)} + \sum_{r=2}^{n} a_r \sum_{l=2}^{r} G_{r,l}(y^{(1)}, \ldots, y^{(r-1)}) b_r(y) + a_0(x) b_1(y) h(x) = 0,$$

where  $G_{r,1}$  are derivatives of the function of y, for  $h(x) \neq 0$ .

$$(1.19) b_0 = -p,$$

and functions  $b_i(y)$ ,  $i=1,\ldots,n$  satisfy she following expression

$$(1.20) b'_1 + b_1 b_2 = 1, b_i = b'_{i-1} + b_{i-1} b_2, i = 3, 4, \ldots, n.$$

So we come to the result:

Theorem 1.1. D.e. (1.18), where the functions  $b_i(y)$   $(i=1, \ldots, n)$ , are related by the condition (1.17), or (1.20), have the solution y = f(g(x)), where g is the general solution of (1.1), and f is defined from

(1.21) 
$$f' - p(f) = 0.$$

The study of equations of Cauchy leads to (1.18), so using this method, we can obtain the solutions which satisfy the initial conditions. Concretely, if we have at first  $g_0, g_0^{(1)}, \ldots, g_0^{(n-1)}$ , for (1.1), then from (1.14) and its derivative, we can define the first  $y_0, y_0^{(1)}, \ldots, y_0^{(n-1)}$  of equation (1.18). The converse is also true.

For some questions of the system of Cauchy, such as its unity, it is natural to use the modified theory of n.d.e.. Here we do not consider these problems.

Note. Now it is easy to check that because of (1.18), when n=1, 2, 3, 4, 5 and any  $a_r$ ,  $b_r$ , h we generate the equations, that have been studied during the past 25 years and earlier (see for example, the d.e. like the ones in [6, 9, 20, 21, 22])

Several examples will now be considered. Here  $a, b, C_1$  (i=0, 1, ...) are some constants.

Example 1.1. If n=1 then (1.18) becomes (as in [9])

$$(1.22) a_1(x) y' + a_0(x) b_1(y) = b_0(y) h(x) = 0,$$

where

(1.23) 
$$b_1(y) = b_0(y) \int \frac{1}{b_0(y)} dy, \quad b_0\left(\frac{b_1}{b_0}\right)' = 1.$$

Suppose in (1.22)  $a_1 = 1$ ,  $b_0(y) = y^n$ ,  $n \ne -1$ . Then from (1.23):  $b_1(y) = \frac{1}{1-n}y$ ,

and (1.22) has the Bernoulli type: 
$$y' + \frac{1}{1-n} a_0(x) y + h(x) y^{(n)} = 0$$
.

Taking into consideration that different forms of  $a_r$ ,  $b_r$ , r = 0, 1, 2, h(x) and n = 1 in (1.18), (1.20) and so on in (1.1) we can have any d.e. of the first order. Then in case of some special choice of  $a_r$ ,  $b_r$ , h it is possible to have known equations. For example, see [19, pp. 294—362].

Example 1.2. Using (1.18), (1.20) when n = 2, h = 0,  $a_2 = 1$ ,  $b_2(y) = \frac{a}{y}$ , equation (1.18) looks like Painlevé's [20],

(1.24) 
$$yy'' + a_1(x) yy' + ay^{(1)2} + \frac{a_0(x) y^2}{1+a} = 0, \ a = \text{const} \neq -1.$$

So in some special cases of  $a_r$ ,  $b_r$ , h, n=2 in (1.18), (1.20), and (1.1), (1.18) are connected with (1.20) leading to known equations (see [18, pp. 485—524]).

Example 1.3. With n=3 equation (1.18) becomes

$$(1.25) a_3 y^{III} + a_2 y^{II} + a_1 y^I + a_2 G_{2,2} b_2 + a_3 (G_{3,2} b_2 + G_{3,3} b_3) + a_0 b_1 + b_0 h = 0.$$

If, for example,  $a_3 = 1$ , h = 0, then (1.25) becomes [21, eq. (6)]

$$(1.26) y^{III} + a_2 y^{II} + a_1 y^{I} + b_3 y^{(1)} + a_2 b_2 y^{(1)} + a_2 b_2 y^{I} y^{II} + a_0 b_1 = 0.$$

But for some  $a_r(x)$ ,  $b_r(y)$  (r=0, 1, 2, 3), h(x) in (1.18), (1.20), we can choose coefficients so that (1.18) would be a special case of the example in [19, see pp. 525—529].

Example 1.4. a) For n=4 in (1.18) we have [22, eq. (2.18)]:

(1.27) 
$$a_4 y^{IV} + a_3 y^{III} + a_2 y^{II} + a_1 y^I + a_2 G_{2,2} b_2 + a_3 (G_{3,2} b_2 + G_{3,3} b_3) + a_4 (G_{4,2} b_2 + G_{4,3} b_3 + G_{4,4} b_4) + a_0 b_1 + b_0 h = 0,$$

that is

(1.28) 
$$a_4 y^{IV} + a_3 y^{III} + a_2 y^{II} + a_1 y^I + a_2 b_2 y^{(1) 2} + a_3 (3 b_2 y^I y^{II} + b_3 y^{(1) 3}) + a_4 (4 b_2 y^I y^{III} + 3 b_2 y^{(2) 2} + 6 b_3 y^{(1)} y^{II} + b_4 y^{(1) 4}) + a_0 b_1 + b_0 h = 0.$$

When  $b_2 = a/by$ ,  $b \neq 0$ ,  $a_i = 0$  (i = 0, 1, 2, 3),  $a_4 = 1$ , h = 0 in (1.28)

(1.29) 
$$b^{3} y^{3} y^{IV} + (2 ab^{2} - 3 a^{2} b + a^{3}) y^{(1)4} + 6 ab (a - b) yy^{(1)2} y^{II} + ab^{2} y^{2} (3 y^{(2)2} + 4 y^{I} y^{III}) = 0,$$

with the solution according to (1.21),  $f(g) = \left(\frac{a+b}{b}g\right)^{b/(a+b)}$ . Recalling that the solution of (1.1), in this case  $y^{IV} = 0$ ,  $g = C_1 x^3 + C_2 x^2 + C_3 x + C_4$ , we have a general solution:

$$y = (C_1 x^3 + C_2 x^2 + C_3 x + C_4)^{b/(a+b)}$$

When a=b from (1.29):

$$(1.30) yy^{IV} + 3y^{(2)2} + 4y^Iy^{III} = 0,$$

with the solution  $y = (2(C+g))^{1/2}$ .

b) Let  $a_4 = 1$ ,  $a_3 a x$ ,  $a_2 = 6 a^2$ ,  $a_1 = 4 a^3 x^3$ ,  $a_0 = a^4 x^4$ , h = 0,  $b_2 = -tg y$ . Then the general solution of (1.1) is

$$g = \sum_{s=1}^{4} C_s e^{-\frac{1}{2} ax^2 + r_s x}$$

where  $r_s$  is some root of  $r^4 - 6 ar^2 + 3 a^2 = 0$  (if it is complex, we must use trigonometric functions). We have

$$y^{IV} + axy^{III} + 6 a^2 y^{II} + 4 a^3 x^3 y^I + (tg y) y^{(1)4} - (axy^{(1)3} + 6 y^{(1)2} y^{II}) - tg y \cdot (6 a^2 y^{(1)2} + 3 y^{(2)2} + 4 y^I y^{III}) + a^4 x^4 \left( tg y + \frac{k}{\cos y} \right) = 0,$$

which has the solution  $y = \arcsin (Cg + C_1)$ . In case a = 0,  $b_2 = 1/y$ , we have (1.30).

c) Let  $a_4 = 1$ ,  $a_3 = a_2 = a_1 = a_0 = 0$ ,  $h(x) = \cos^2 x$ , then the solution of (1.1) is  $g = x^4/48 + x^2/8 + (\cos 2x)/32$  which satisfies the initial conditions g(0) = 1/32,  $g^I(0) = 0$ ,  $g^{II}(0) = 1/8$ ,  $g^{III}(0) = 0$ . In this case (1.28), for p(y) = 1/y, becomes

$$yy^{IV} + 3y^{(2)2} + 4y^Iy^{III} - \cos 2x = 0.$$

The solution  $y = (2(g+C))^{1/2}$ , and C = 0, satisfies the initial conditions y = 4,  $y^I = 0$ ,  $y^{II} = 1/32$ .  $y^{III} = 0$ .

And here for different  $a_r$ ,  $b_r$ , h we can have different types of examples [19, pp.525—529].

Example 1.5. With n=5,  $a_5=1$ ,  $a_1=-1$ ,  $a_4=a_3=a_2=0$ , h=0, then one solution of 1.d.e. (1.1) is  $g_0=e^x+\cos x-2$  which satisfies the initial conditions g(0)=0,  $g^I(0)=1$ ,  $g^{II}(0)=0$ ,  $g^{II}(0)=1$ ,  $g^{IV}(0)=2$ . Equation (1.18), for ex. for  $p(y)=e^{-y}$  becomes

$$y^{V} - y^{I} + y^{(1)} + 10 y^{(1)} y^{II} + 10 y^{(1)} y^{III} + 15 y^{I} y^{(2)} + 10 y^{II} y^{III} + 5 y^{I} y^{IV} = 0,$$

with the solution  $y = \ln (g_0 + C)$ , for C = 1. Using (1.6), (1.13) satisfies y = 0,  $y^I = 1$ ,  $y^{II} = -1$ ,  $y^{II} = 3$ ,  $y^{IV} = -8$  as the initial conditions.

## REFERENCES

- [1] W. F. Ames, Ad Hoc methods for Nonlinear Partial Differential Equations, Applied mechanics review, Iowa (1974), 1021 1031.
- [2] W. F. Amos, Ad hoc exact techniques for nonlinear partial differential equations, Nonlinear Partial Differential Equations, Academic Press, New York, 55 (1967); AMR 21 (1968), Rev. 6233.
- [3] W. F. Ames, Implicit ad hoc methods for nonlinear partial differential equations, Abstract in Proceedings of Third Canadian Congress of Applied Mechanics, Calgary, Alberta, p. 749, May (1971); To be published in Jour. Math. Anal. Appl. (1972).
- [4] W. F. Ames, Nonlinear partial differential equations in engineering, Vol. I, Academic Press, New York (1965); AMR 19 (1966), Rev. 4724.
- [5] W. F. Ames, Nonlinear partial differential equations in engineering, Vol. II, Academic Press, New York (1972).
- [6] W. F. Ames, Nonlinear Ordinary Differential Equations in Transport Processes, Academic Press, New York (1968).
- [7] E P nney, The nonlinear differential equations  $y'' + p(x)y + cy^{-3} = 0$ . Proc. Amer. Math. Soc. 1 (1950), 681.
- [8] Л. М. Беркович и Н. Х. Розов, Некоторые замечани по дифференциальных уравнениях вида  $y''+a_0(x)$   $y=\Phi(x)$   $y^\alpha$ . Дифференциальные уравнения 8 (1972), 2079.
- [9] J. M. Thomas, Equations equivalent to a linear differential equation, Proc. Amer. Math. Soc. 3 (1952), 899 903.
- [10] R. T. Herbst, The equivalence of linear and nonlinear differential equations, Proc. Amer. Math. Soc. 7 (1956), 95-97.
- [11] F. de Spautz and R. A. Lerman, Equations equivalent to nonlinear differential equations, Proc. Amer. Math. Soc. 18 (1967), 441 444.
- [12] J. L. Reid, An exact solution of the nonlinear differential equation  $y'' + p(t) y = q_m(t)/y^{2m-1}$ , Proc. Amer. Math. Soc. 27 (1971), 61—62.
- [13] J. L. Reid, Solution to a nonlinear differential equation with application to Thomas—Fermi equations, Atti Accad. Naz. Lincei—Rend. Cl. Sci Fis. Mat. Natur. (8) 53 (1973), 268—271.
- [14] J. L. Reid, Derivation of modified Thomas Fermi and Emden Equations, Atti Accad. Naz. Lincei Rend. Cl. Sci. Fis. Math. Nat. (8) 54 (1973), 529 532.
- [15] J. L. Reid, Homogeneous solutions of a nonlinear differential equation, Proc. Amer. Math. Soc. 38 (1973), 532 536.
- [16] B. V. Dasarathy, Equivalence conditions for classes of linear and nonlinear distributed parameter systems, J. Sound Vib. 24 (1972), 35 40,

- [17] R. Courant and D. Hilbert, Methods of mathematical physics, Vol. 2, Wiley (Interscience), New York, Ch. 2, (1962); AMR 15 (1962), Rev. 5658.
- [18] E Kamke, Differentialgleichungen Lösungsmethoden und Lösungen. Leipzig 1959.
- [19] Э. Камке, "Справочник по обыкновенным дифференциальным уравнениям", Москва 1971.
- [20] P. Painlevé, Sur les équations différentielles second ordre et d'ordre supérieur dont l'intérgrale est uniforme. Acta Math. 25 (1902), 1-85.
- [21] J. D. Kečkič, Additions to Kamke's treatise, Nonlinear third order differential equations, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. № 381 № (1972), 81 84.
- [22] R. I. Alidema, Linearizacija nelinearnih jednačina četvrtog i petog reda, Mat. ves. 1 (14) (29), 1977 Sv. 4 Beograd.

Katedra za matematiku Prirodno-Matematički fakultet 38 000 Priština, Jugoslavija